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C/C++ 739110 :’N p5n
(1 - 4 MHNW) MNAD MONWN 4 PN 7aba MYNY 2 by vy v

(3123 20) 1 9995 NINY

D900 ,TWHRN DTN ,TIVN cN0APNN MSPNS N0 v (Mhpy 10) (N
STV W9 N -Y DAY 90N NN PINN MINPINN

N arr={1,2,3,1,5,2} ON : NONTD
TN DY 2 Y91 199001 % ,2 Minn f(arr,6,1)
TIVNI NNN DY Y9N 3 190NN 3,1 1 f(arr,6,3)

8PN .int unique(int arr[], int size) M8PND 1IND5 W (MNP 10) (2
VO TIVNL JXR IO DX 1 7NN 0TI INY DM90N DY TN Noapn
9901 ¥ DN ,NIMIN NNT) TIWNI N,Dad v oxX 0 -1 ,p»Ta nNX 0y
N GIP0N NINPNDA WNRNYAY NN (NNN DYIN TN WHNY
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(M1 20) 2 4901 ﬁbz«w

MMWINY 0N s1, s2 .int NON ONNYN i, j .C++ NAVWI NPIOMN SYOPN 190N TD
JOPN DYO] v9ON NX MM 19m:1 DI ¥ DDYOIN TN 932 {P90n TINI)
AT N2IVND NN TN PRY WY 190D

INAN YOPN YO DITY NN (MTIPI 6) (N

strcpy(sl, “AB"“):;
strcpy(s2, “Yz%“);
strcat(s2, sl);
strcat(sl, s2);
cout<<sl<< ™ “<s2<<endl;

N2 YOPN OPOA VYT N (MNP 7) (2
strcpy(sl, "ABCD");
strcpy(s2, "abcd");

1=0;

while(s2[1i] != '\0"){
s2[i]=toupper(tolower(s2[i]));
i++;

}

i= strcmp(sl, s2)!=0;
cout<<"i="<<i<<endl;
cout<<sl<<s2<<endl;

INAN YOPN DDA 0TV N (MNP 7)) O
strcpy(sl, "VABCDEV");
strcpy(s2, "415362");

for(i=0; sl{i] && s2[i]; i+t++)
cout << sl{s2[i]- '0'] << endl;
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:IPONN NN

class SortedArray{ -
int *arr; //00NIT) TN
int size; an) A Pap)

bool checkSorted(int *a, int size) const;
public:

SortedArray();

SortedArray (int *a, int size);

void print() const;

~SortedArray();
b |

DY TO2 PIND TIWN NINNND NPONNN

XY TN nvapnn checkSorted MSPNAN NN wHn2 v (MNP 10) (X
IV PR TN OX N9 ITOT PN TIWNN DX true NN 0T
false mxp»nan N

D901 TIVN 53PN *XIAN .constructor YNIIN NN WHnY ¥ (Mmmp 10) (2
SIPONNN MINYN IR DMYNNAND 2280 I0TH NNY
P23 TN IO NPINNN PN KD (T0NI9D 22pNNnY) TIvnny Mpna

(size=0, arr = NULL)

YN
1PN NINY PITAY W, TV DPInynY e <
NOVI DY NIPNA 1NNYNN 1R TNRMTH INSPINY 9172 v <
DN NYTIN KDY (size=0) P> TN INMN NPONNN NI
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(193 20) 4 29910 HNY
TPINNI M2 NN DY MIIND NINNHN upperString OWA NPSNN 1IN W
: | : NN NITINN 295 ,(A-Z)

. char *str NpPO5NN MNWN PPN PTHIND W
: ININ NPINNN NPIPND NN DN NPONKNN 10 MO

NP7 NIINDD SNNRNIT,DMIVNIS XDT — ITNN N2 (constructor) N2
DP2NNN INNND NIYINKD 10NI9D Yapnn (constructor) INIA
DPONNTHIY IR NNYY NTYPND TPIPNON .NIINND NYAPNN set PNPND
N0N VNI PAD DYINN LPMAIND P2 NNYNN compare PPN
0 ;7017971 21T D>YoNn LPMIND OX 1 NPIND MIPNSN .upperString
0DIDNN YOP LPMIIND OX -1 1,0PNY DIVPMIAIND NIV OX
DI NOSTNY print MHSPNY @

.(destructor) pran

: DININ DIPYON MV 19D NORWYN DY NNYH v
vNNo PR .INNN MIHNN 29 NPONNN NHTHN IR DAY v (MTp) 10) (R
.CONSt -2 MMVINNNN NPIPNAN NNX VTN PAPNT W HAPNPNS N Y02

DIPMIN 290 NN IRNYAN .compare MIXPNON NN wHnd v (MNP 7) (3
(N2P02 DTIP NNYNI NN ON,INY MVLP NIAYNI NHIINNDN IMYI) NYIRa

MIYN ,upperString NN DOVPMAINR MY NPTINN main NIPNY N v ()
TIWN NN IMDI) IRNYNN NININ NN NDYTNY compare MYSNNI DY
.(compare Y 1NNV
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VHDL :72 75p

(5 - 10 MNY) MNAN MUNYH 6 T MYNY 3 5y nnyb v

(M1 20) 5 9991 NINY

: ININ NN NN
GINDY INMN NINNNND INPNY NIIND NN VYPA2 PNY v (MNP 10) (N
19792 ©XWIN DY POPND NI .DOWINY DMNINNND DN2DN
Generate NP Y ,TPLIVIPND NN NNOPVIIIN DN W (M1 10) (2
-5 TP 2150 PR PYY D N0N 20T DY 1P NND 1) 0NN NN NNN
T2 N0 01PN 0MNVPNA wHnwnd AN DFF

library ieee; use ieee.STD_LOGIC_1164.all; :

library ieee; use ieee.STD_LOGIC_ARITH.all;
library ieee; use ieee.STD_LOGIC_UNSIGNED.all;

entity test5A Process is

generic(size: integer:=3);

port(d,clk,rst: in std_logic;

g: out std_logic_vector(size-1 downto 0));

end; ,
architecture to_hardware of test5A_Process 1is

signal d0,d1l,d2: std_logic;

signal ¢q0,ql,q2: std_logic;

begin
process(rst,clk)
"begin
if rst='1l' then
q0<='0"'; ql<='0"'; g2<='0";
elsif rising_edge(clk) then
q0<=d0; gl<=dl; g2<=d2;
end if;
end process;
d0<=d;

dl<= g0 AND d0;
d2<= gl AND dl1;

g<= g2 & gl & g0; -=-!'nmima 17 n1w "onn"? TO1¥ 1R
end;
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(M3 20) 6 99913 NINY
Anput = 71000” : ©¥2°¥0N 231 TWNI ,ININ NIINN NN
on*a div_by 19N S DMIN NIMN NN YD 0N PNT MNJILVH NN DDOYND ¥

FPURIN PYYN NINND NIYOIN 197 I8P DIPN 1MW NN 1) .count -2
library ieee;
use ieee.STD_LOGIC_ll64.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic);

end div;
architecture div of div is

signal count: std_logic_vector(size-1 downto 0);
begin

process (rst, clk)

begin
if rst = 'l' then
count<=(others=>'0"');
div_by<='1l";
elsif clk'event and clk = '1l' then
if count = input - 1 then
count<=(others=>'0"');
div_by<='1l";
else '
if count < SHR(input,"01") then
div_by<='0";
else
div_by<='1";
end if;
count<=count+1;
end if;
end if;

end process;
end;
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DIV Y'Y NIINNA NDA0 XD WY NNV IND DOYD 19NN My (M 10) (N

: 093 MY NN PONY 0N count -5 o*a div_by bw iy
count div_by
0

NN N R (W | -

MMIVYN NN DMWY NMPNRY NN NVITIND NNWN NN DOWH (MNP 10) (2
‘ : NN

if count > conv_integer(input)/2 -1 then
10MPYY 27 NNVYY RTND YT ,0°902 11 TNY THXYY DIVIY DD
82 0N count - O div_by Sw 107y DI 7Y NIINNI NYIN NYIL PIXT W
: D3N MMNN NN

count div_by

N\ N B WIN =D

311000

0 AN NYNIN IDINT MANXNN NP0 M SHR ISP .1
NOINDY NINNT MININN NPIVDL NP»P conv_integer OIPNMN .2
NON MY 2-1 PN WRNWND MmN TR .integer - MOPIN
o | .integer

ND N) NYPA2 ,0%03972 227THY YDON2IYY BN INNND 1T NYRYA DMWY NN L3
MDY
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(M1 20) 7 9991 nYNY

: TINAN NDINNN O8N NNON MYY v (MNP 10) (X
library ieee; use ieee.STD_LOGIC_1164.all;
library ieee; use ieee.STD_LOGIC_ARITH.all;
library ieee; use ieee.STD_LOGIC_UNSIGNED.all;
entity test7A is '
port(clk, rst: in std_logic;
inp: in std_logic;
otp: out std_logic_vector(l downto 0));

end; _
architecture arc7 of test7A is
type states is (zero, one, two);
signal currentS: states; '
begin
process(clk,rst)
begin
if rst='1' then
currentS<=zero;
otp<="00";
elsif rising edge(clk) then

case current$S is
‘'when zero =>
if inp='1l' then
currentS<=one;
end if;
otp<="00";
when one =>
if inp='1' then
currentS<=two;
end if;
otp<="01";
when two =>
if inp='1' then
- currentS<=zero;
end if;
otp<="10";
when others =>
end case;
end if;
end process;
end;
2OY7 DN NNDNY NPY wovrw 713,190 (Entity) pwnnn nx obend v (mmip 10) (2
MMOPVLIIIN 2INIY VI : NIV YD NINNN NN DHYPY INNNY 157 APNY PN TOV TIpn
1ONYID DYOINN DIVAY PR TN ,NPDIPN MNP N/ DONN DY
entity test7B is
port(clk, rst: OUT std_logic;
inp: IN std_logic_vector(l downto 0));
end;
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(M3 20) 8 1991 NHNY
A% 101N 12N0Y NN RIPY N)

9207 7Y DOXTAYY ,AYIY 1T TPINN NN TR LIV 2017 ¥ (MNP) 5) (N
NN Inp YD INANY  MNNNT 2 W LMD

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test8B_process IS
generic(n: integer:= 4);
PORT(inp: IN STD_LOGIC_vector(n-1 downto 0);
otp: OUT integer range 0 to 2**n -1);
END;

ARCHITECTURE arc OF test8B_process IS
BEGIN
process (inp)
variable var, temp: integer;
begin
var:= 0; temp:= 1;
for i in 0 to inp'length -1 loop

if inp(i)= '1l' then
var:= var + temp;
end if;
temp:= 2*temp;
end loop;

otp<= var;
end process;
end;
NN P72 y¥anw package body T2 NI 1N07 v (MNP) 10) (2
11912 TIP2 WNNWND N D0 PONNN Y¥INY DI
library ieee;
use ieee.STD_LOGIC_1164.all;

use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;

package pack8 is
procedure vec2int(vec: in std_logic_vector;
int: out integer);
end;
package body pack8 is

-end; v

YNNWY 1O ,WTNN DYDY NMVUPVLIINGD NN NOY v nyd (MNPy 5) O

PYTI DUV ,TIEYN DD IDINNY IPINRD POY NIANOY NNHTHIN]
270N
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LIBRARY IEEE;
USE IEEE.STD _LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A_What IS
PORT(clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);
END;

ARCHITECTURE arc OF test09A_What IS
BEGIN
process(clk, rst)
variable a, b: std_logic;
begin
if rst= '1' then
a:= '0'; b:= '0";
elsif rising edge(clk) then
a:= inp; b:= a; otp<= b;
end if;
end process;
end;

13 OIDIND ISNAY NININD DX XD v (MTp) 10) (2
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
USE IEEE.STD LOGIC_ARITH.ALL;
USE IEEE.STD LOGIC_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT(clk,rst,inp: IN STD LOGIC;

otp: OUT std_logic);

END; |

ARCHITECTURE arc OF test09B_What IS : -
BEGIN | '
process(clk)
variable a, b: std_logic;
begin
if rising_edge(clk) then
a:=inp; b:=a; otp<=Not b;
end if;
end process;
end;
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R=Reset, S=Set : ¥ INaW 095712 : YN

NTPD 7y 3:1 2290 NPYY INNID DUV MIIN 2Nd0 v (M) 10) (2
Bit 1301 051 MNIND 9wrR> ,When...Else
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